00000 -000 (0700

31.

32.

33.

34.

35.

ooobooooboooooooooo. oooo,0o0b00o0ooooonD X,0 X, =X, 14+W,, Xo=
00000D0DOoOO0OoODOOoOOOoODoDO. oOoOo,wy, W,, ...0000000,0000000D0000
oo.

P({W, = +1}) =p, P({W,=—1})=q=1-p

000,0000 X,000000000000000,X,=7",W,00000000.00000
00,X, 000 Ex,(X,),00 Vx,(X,)00000.

000D00000000000000. 000 X, =37, W, 0000, 000 Cov(X,, Xp) =
Ex, x,, (X, Xm) —Ex, (X,)Ex, (X,,) 0000000 (00 2300)0000,X,0 X, 00000
0o.

00000000000000000. 0000 X,00000000000,00 »0000 X,=k
ooooo P{X,=k})000000.000,0000 X,=Y, ,W0000000000, X,
00000,»00000,00 We=+10000000000000.000000,P({X, =k})
0000.00,00 »=30000000000.

gooooooooooooo0ooO0O0. 00 nO00O0OO0, X, =k000000 w,(k)OO0O. OO,
k=M>0000000000000,000000000,00000D0 X,,0000000000
0.0000,w(k)000000000O00OCOOOOOOOOOOOO.

'/Tn(k) :p'n—nfl(k_]-)"‘q']rnfl(k‘f'l), (k < M—2)
(M) =prp_1(M — 1) + 11 (M), m(M —1)=pmr,—1(M —2), m(0)=1

oooobo0,M=2000000 XsOoOooooooo.
oooooooooooooogoooD,k=000000000000O0000ODOO.ODOO,X,-1=0

00000,0000000 X,=1000000000.00 n0000 X,=k000000 ma(k)
ooooo,

T (k) = prn_a(k — 1)+ gmaa(k+1), (k> 2),
Tn(1) = mp—1(0) + qmn—1(2), 7 (0) = qmp—_1(1), mo(1) =1

O00000.000,0000 Xo=10000000.00,000000 n3(1)00000.



